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C-259

B.Com. (Part-II) Examination, 2022

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - 1II

(Cost Accounting)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M -

2 marks.

(@us-3) (3® : 2 x 10 = 20)
Tl T Yl B I T (ST 50 ) | FAF YIA 2 3F HT T
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-a) (3T : 8 x 5 = 40)
I # ¥ R Ui T & SW SIS (SW-EE 200 9E) | TAE Y9 8 Ik
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@us—a) 37k : 20 x 2 = 40)
gﬁﬁﬁﬁ#fa’rgﬁ@waﬁq (S 500 1) | TAF GH 20 3TF A

|
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Section—A (@US-3)
. (@ What is Opportunity Cost ?
T AT 1§ ?

(ii))  The standard time for a job is 20 hours @ % 1 per hour. The job was
actually finished within 15 hours. Calculate remuneration under Halsey
Bonus System.
TH IUHE & fau yEe W T 1 9 Ave w1 W W 20 AU ¥ YR awad
H 15902 § & @ o T 7)1 Ted and Ao & STER Ha Ry
A FIT |

(ii1) What is meant by semi-variable overhead ?
AZURTATNE IR | T S/ § 2

(iv) Write names of any four industries in which unit costing method is
applied.

ol = 3E & A fafey =8 s arma faro @fa &1 w=@m fwan s wwa
T2
(v)  What is meant by retention money in contract costing ?

ST T H SRy Jod ¥ o SAfygE ¥ 2

(vi)  What is abnormal wastage ?

STHH &9 M ¥ ?
(vi) Give the formula for calculating material mix variance.

LT fHeror foreRer i UM B Y Sasy|

(viii) If loss as per financial books is ¥ 10,600 donations not considered in cost
accounts T 6,000; what shall be the profit or loss as per cost accounts.

Ifg fadia gwasi & IR B T 10,600 TG <@l | T H1 ol T8l gel
% 6,000, T AT orEl BRT YRR e A = ww A ?

(ix) Fixed expenses is I 90,000, sales is ¥ 3,00,000 and profit is ¥ 60,000.
Calculate P/V ratio.

feer =11 790,000, faar T 3,00,000 T2 &MY T 60,000 T AT ST i
UMY HITTT |

(x)  What is meant by absolute ton-km ?

TG < -fheiiier ¥ #=1 owE § 2
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Section-B (WUS-)
2. A factory requires 1,500 units of an item per month, each costing I 27. The cost

per order is ¥ 150 and the inventory carrying charges work out of 20% of the
average inventory. Find out EOQ and the number of orders per year.

Would you accept a 2% price discount on a minimum supply at 1,200 units ?

TF Tt § Gl ot fRE T% Y 1,500 SEIEE w AR TR ot eTavadhan Bt §, fent
AT Ufd 3eRtE T 27 B 9fd AR i e T 150 T S | 38 Wa-TEre I At
T & 20% (3T =ik W) =4 T 2| ST SR &t A6 a1 99 # 3 9 A
TN T & w1 fAuRer S

AT YA 1,200 $HEA B H R 2% T2 W AHAT WG RIS Ghdt ¢ FM AT
T Wihd wH HI qAw® o 2

3. Compute machine hour rate from the following particulars relating to machine
shop of a factory :

Expenses per annum ()

Power 1,56,000
Lighting etc. 32,000
Supervision 60,000
Rent and Rates 38,830
Indirect expenses 3,300
Repairs 73,200
Depreciation 39,000

There are 12 holidays besides Sundays in the year of which 2 are on Saturdays.
The factory works 8 hours in a day but Saturdays are half days. All machines
work at 90% capacity throughout the year and 10% is reasonable for breakdown.
There are 5 machines of same type and similar size in the shop.

TF Bl i O3 910 & gt fefafed faaton @ 9eiq wver X 1 aieed Hifg

=g qfa oot (%)

TeR 1,56,000
EEaNEE I 32,000
EREau 60,000
R 3 <X 38,830
A TG 3,300
TR 73,200
R 39,000
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o # o & stfafea 12 feadi =1 e wm, 578 2 sifer =1 ®)1 gfafes 8 =2
w1 foran S ®, foheg Ts wifaR &t onren & fead & 2 §1 R 9§ ausd weie
90% &THaT W 1 HIdt € a1 1§ TwEe 7 10% WEHE qeifaa 1 w9 § 5 weid

TH AR d GHF YR Hi %‘l

4.  What is meant by contract costing method ? Discuss in brief the various items
appearing in debit and credit sides of a contract account.

ShT AnTg T Ofd Q@ o= ifyaE ® 2 Tk S T % T qel S 9§ oA drelt
fafier =<t =+ 997 ¥ e |

5. From the following information relating to a manufacturing process of Modi
Ltd. Calculate labour variances :

ot fafaee &t fmio gfe ¥ gefaa f=ifea game & ouR W o fa=xo =@
TReeq wifsg

Standard Rate of Labour % 10 per hour
Actual rate of labour % 12 per hour
Standard time 500 hours

Actual time taken 450 hours including

25 idle hours
6. Explain the meaning of marginal costing and give its advantages.

A TN e T 378 THST 9T $Heh Ol @l Sooid hifeid |

7.  The product of a factory passes through three processes A, B and C. Following
is the expenditure on these three processes :

TF HREM F S &, o, 3R T dF i F T ToRal T 37 aF gfepaned &
=g fr=fafea ®

Particulars Process A Process B Process C
Material used % 10,000 % 5,000 < 2,500
Wages % 13,000 3 12,696 % 7,223
Indirect Expenses < 2,800 % 2,500 % 3,750
Units issued (50,000 units) T 20,000 — —
Normal Wastage 4% 10% 10%
Sale of scrap per 100 units % 10 % 25 %10
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The percentage of wastage given above should be calculated on the units entering
each process. The finished product of ‘C’ is transferred to finished stock
account. The output of process ‘A’ is 47,520 units, of process ‘B’ 43,460 units
and of process ‘C’ 38,960 units. Prepare process accounts and abnormal wastage
and effectives account.

IR TE & HI GG HI T TR AT H T FA el THEA W R B
‘' gferen w1 ER 9t TG i Tna 8 ARG S © 1 w31’ S 47,520
TohTeA, ‘o' WA T 43,460 THRTEAT a1 ‘W' WRRA 38,960 TEHEAT 1 UiHAT TR
T STEHHT & T 990 @ 9GRS |

8.  Rajasthan Transport Company has been given a 20 km long route to run a Bus.
The Bus costs the company a sum of ¥ 40,00,000. It has been insured at 3% per
annum and the annual road tax amounts to ¥ 80,000. Garage rent is ¥ 16,000 per
month. Annual repairs is estimated to cost ¥ 80,000 and the Bus is likely to last
for 5 years.

The salary of the driver and the conductor will be ¥ 24,000 and ¥ 16,000 per
month respectively in addition to 10% of the takings as commission (to be
shared equally). The Manager’s salary is ¥ 25,000 per month and stationery will
cost ¥ 1,000 per month. Diesel and oil will cost ¥ 5,000 per 100 kilometres. The
Bus will make 3 round trips per day carrying on a average 40 passengers in each
trip. Assuming 15% profit on takings, calculate the Bus fare to be charged from
each passenger per kilometre. The Bus will run on an average 25 days in a month.

TSRYM IR T 1 Tk 20 fRairier At | o9 =am &t o afa <t T8 §1 59
I @RI T 40,00,000 ¥1 F® 3% afve X F Sifad § a1 9§ @ A T T 80,000
¥ WS foran 16,000 Wia @ qe aftes AT St ST o 2 80,000 TE w9
1 eI Seehtel 5 a9 ¥

=TT q IRETers 1 99 HES: T 24,000 3R T 16,000 wfa 7 e, 39 sifafted
femel &t |A foRl W 10% FHHTA (S0 IAT H /R dter Srm) o S| yeeees
1 a9 T 25,000 FiaHE T RIEG @ @rd 2 1,000 ¥aHE ¥ 9@E 100 e
R IS T 9@ ® @ 25,000 T IEE TFR B oSAEaT 40 I6T oF W g S
M-S & T =kt JiafeT St | 78 AHd 8¢ foh oy fehdl o1 fasl W 15% s1fom
FE T q 99 O § 3fgaq 25 G € Jordt ¥ v ant 9 gfa feedie = fea
S aren fetEn I i |
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Section—-C
(@ue-—|)

9. A factory can produce 60,000 units per annum at its optimum capacity (100%).
The estimated cost of production are as follows :

Direct Material % 3 per unit
Direct Labour % 2 per unit
Expenses :
Fixed % 1,50,000 per annum
Variable % 5 per unit

Semi-variable overhead : ¥ 50,000 per annum upto 50% capacity and an extra
expenses of I 10,000 per annum for every 25% increase in capacity or a part
thereof.

The factory produces only against the orders and not for its own stock. If
production programme of the factory is as indicated below and the management
desires to ensure a profit of ¥ 1,00,000 for the year, work out the average selling
price at which units should be quoted. First 3 months of the year 50% of
capacity and remaining 9 months of the year 80% of capacity will be used for
production.

T Hhat &1 SAfeshas (100%) STAe &8 60,000 ST 9fa 96 1 S i STHIa
AT e TR R

g T 3 ufa s@E
pret i 3 2 Ufd sTe
Y

Toet % 1,50,000 wfa =t
EliERENI] 3 5 9fd s

g -aRadsier 3SuRead @ 50% wEe™ar a& T 50,000 ¥fa = qen T 10,000 Afafsa
= B Se el § 25% A fRdt wm #t gfg @t S

Tl Hae TR YW T W T SR HIA § 7 O 3197 Wik 3| Al el T S
FEHd 7 FR ® IR geruss oo # T 1,00,000 1 o0 A HH b sugH @ ol
yfa g1e 1 TEa fosha goa 9 wIte, 59 St 3gd R ¥ : 98 % U9 3 A
T wEEHA H 50 T T9 & TN 9 e § wEHA F1 80% SCAGH BT |
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10.

11.

12.

What is meant by Cost Accounting ? Explain briefly the objects and advantages
of cost accounting.

NG T ¥ 379 91 THFd & 7 AN AEichd o Seyd Ud oy ol 989 | F0iq
IS

Discuss the causes of differences between costing profit and financial profit.

How are two profits reconciled ?

AN oy e foxita oy § TR & HION Kl foa=a HIfST | 39 SH1 o1 9aeH g

yeh foran S © 2

The following data are given for Madhubala Ltd. :

meEren fafaee & fau f=fafed 9+ o=@ € -
Sales (8,000 units) ¥ 3,20,000, fixed cost ¥ 60,000, variable cost ¥ 30 per unit.
Prepare marginal cost statement and calculate the following :
= o faero-u9 d9r wifsu &iR frfafed &t oM Sy
(1) P/V Ratio
TH-AEAT ST
(i)  Sales for 40% P/V Ratio
40% H-AET A & fag fosea

(ii1) Break-even sales in value
Tq-faesg fowa uf

(iv)  Contribution, profit and variable costs at sales values of ¥ 2,56,000
% 2,56,000 & T gea W RH, IRadTSiel @Fd Td oy

(v)  If the selling price is reduced to ¥ 32, find the new sales volume to offset
this price reduction.

Ife fora Heg weret ¥ 32 L faan St fasg o6t =g Aftn A wifsie s g9
w fara qea &1 afaufd & fou v @)

(vi) Sales to earn a profit of ¥ 40,000 under price reduction

= fasa geal W 40,000 F1 o9 AT A g fawa w1 af
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